F241E KSIWHWarR(LEDER)

2410 k&2 varR(HDDER)

JIE L K£ zaritifzazatd FOR [IZoF4] vk &% JIE {2 K% zariti|zazae JAOX |1\ T4] Yk =
1K R 48[ 50 98 31.2 66.8| A& 1B BRI 57| 56 113 49 4 63.6[/NEE AS
21iEHE A 46] 47 93 24 69| AE 27KE #HF 49] 51 100 36 64| AE
3|piA BBE 47| 46 93 24 69/NEE AE 3|EBNI #F 48] 51 99 345 645/ AE
Al FE— 46] 43 89 19.2 69.8| A B 4lFE &5 421 41 83 17 66|BGE AE
5|FF X 55| 51 106 36 0| AE 5|HF BE 45 39 84 17.9 66.1| AE
6|1EH 1EX 46] 48 94 24 70| AE 6|FELL FHE 44| 44 88 21.8]  66.2|)KFE AE
7% I 49| 45 94 24 70| AE 7% _Ih 49 45 94 27.6 66.4| A S
8|fNA IEXER 44] 43 87 16.8 702\ A E 8|8 FiE 43] 45 88 21.2]  668|AE
ok EIE 42| 45 87 16.8 702 A& 9|FEN FREE 44| 41 85 18.1 66.9| A&

10|f5H BE— 49| 48 97 26.4 70.6| A E 10|F5A &F 53 54 107 39.9 67.1|AE
11[3&ME —Bh 421 A1 83 12 71 11[{# 0&EH 52] 50 102 342 678
12(BTH 1ER% 40| 43 83 12 71 12|80%F BUA 46 42 88 19.7 68.3
13[#af] 1HAE 55| 52 107 36 71 13|lud BIE 42 45 87 18.5 68.5
14[tE #E 43| 45 88 16.8 71.2 14|l Z8| 51 53 104 34.8 69.2
15[KH F 49] 51 100 2828 71.2| R E 15[AX #F0 47| 46 93 23.7 69.3|FRE
16|74 FOA 43| 45 88 16.8 71.2 16K BHEF 50 51 101 31.7 69.3
17(Ey Shf 43| 43 86 14.4 71.6[KFE 17|85 & 42 44 86 16.6 69.4
18[=#8 KA 421 47 89 16.8 72.2 18| #E1T 43| 47 90 20.6 69.4
19[RK BEF 50 51 101 28.8 72.2 19[58 KA 421 47 89 19.5 69.5
20|F)Il #F 48] 51 99 264  726|RE 20|14t Fi 49] 39 88 18 10|7RE
21|ERN 3 44] 41 85 12 73 AGIE-= 46 43 89 18.5 70.5
22(FEF BHF 49 48 97 24 73 22|HR EE 49| 54 103 32.3 70.7
23| E &= 50 52 102 28.8 73.2 23| K\ =& 47 47 94 22.7 71.3
244518 B1E 40 38 78 48 73.2 24| S 43| 43 86 14.1 71.9
25| FxE X 53 49 102 28.8 732|RE 25[3EFE EA 46 48 94 22 72(RE
26|E FX 46 47 93 19.2 73.8 26|84 SPRE 50 45 95 22.8 72.2
21| ZERE 54| 44 98 24 74 27|52 FliE 48[ 46 94 21.6 72.4
28|[& EX 43 41 84 9.6 74.4 28| E WE 43] 45 88 15.1 72.9
29(tFE RiG 39] 38 77 24 746|BGE 29| AF EBS 56/ 56 112 39.1 72.9
30| KA #Uy 58] 55 113 384 746|RE 30| bl BEF 47| 58 105 31.6 73.4| R E
31{¥E)I 1E1T 57| 44 101 26.4 146| KEE 31|EF BHF 49 48 97 23.4 73.6
2[R BA 45| 49 94 19.2 74.8 32| LH #%8 46| 48 94 20.3 73.7
33| =M EX 40| 42 82 7.2 74.8 33|EA fEE 49] 47 96 22.3 73.7
MEE BE 53| 51 104 28.8 75.2 MNAR E 47 51 98 24.1 73.9
35|&HA BB—ER 47] 50 97 21.6 75.4| RE 353RA EE 51] 56 107 32.9 741 E
36|IRA _FE 49| 41 90 144 756 36|#RE B 45| 41 86 11.8 74.2




37T vEH 52| 50 102 26.4] 756 J7|RE FX 46] 47 93 18.8 74.2
38[FHA & 53| 54 107 31.2 75.8 38|FAAN EiA 45 49 94 19.7 74.3

39(H E {£40 421 M 83 7.2 75.8 9|5EH TXF 45| 44 89 14.4 74.6
40|5H%F BUR 46] 42 88 12 76| R E 40|pTE BBE 47| 46 93 17.8 752\ E
INMENTER 44] 44 88 12 76 MNEE BE 53] 51 104 28.5 75.5
2\11F Fik 49[ 39 88 12 76 42|F K T8 48[ 49 97 21.4 75.6

43| AFH BE 45| 39 84 7.2 76.8 43|17R —4% 56] 54 110] 343 75.7|LSCWVE
44|—B BBk 51 50 101 24 77 44| B8 5 47| 55 102 26.1 75.9
4533 EhR 46 48 94 16.8 71.2|RE 45|58 F— 45| 44 89 12.6 76.4| R E
46| AR B=E 52| 54 106] 288] 772 46| AR = 52| 54 106] 295] 765

47k F EFEth 471 47 94 16.8 77.2 47;EHE E 46| 47 93 16.2 76.8

48| BiE F— 45 49 94 16.8 77.2 48[ K\ Y 58/ 55 113 35.5 71.5
49[FA ER= 44| 43 87 9.6 71.4 49(FZH = 52| 46 98 20.4 77.6

500 R & 46 53 99 21.6 771.4|RE 50[MA £ 51 50 101 23.4 77.6|RE
51| Z8 51] 53 104]  264] 776 51|—[E BBk 51] 50 101 22.9 781|kECVE
52| A BE 52| 52 104 26.4 71.6 52|38)Il 1E1T 57 44 101 22.6 78.4| KR E
53[HT Fk 53| 51 104 26.4 77.6 53| R IF& 47 51 98 19.3 78.7
54|IUF AE 54| 50 104 26.4 77.6 54| K¥F| &= 62] 60 122 43.3 78.7

55[F A BE— 50 47 97 19.2 71.8|RE 55| L1 FF0 63| 51 114 34.8 792 E
56| A #E1T 43 47 90 12 78 56|t 1EAE 55 52 107 27.6 79.4
57|.ELlL FH0 63| 51 114 36 78 57|18 H #X 46 48 94 14.4 79.6

58| Fa A S 50 45 95 16.8 78.2 58|7kFx Eth 47 47 94 14.2 79.8
59|IUAR  FIE 48| 47 95 16.8 78.2 59[lUAR BEF 48| 51 99 19.2 79.8

60|85 FiE 43] 45 88 9.6 78.4| R E 60|HE B 50 52 102 22.2 79.8| R E
61| AR EX 43| 50 93 144 786 61X EE 52| 52 104] 241 79.9
62|AR —4% 56| 54 110]  31.2 78.8 62|lLUT AE 54| 50 104 238] 802
63|EBE B 45| 41 86 72 788 63[FaF E X 55 51 106] 255] 805
64|FFT BE 42 44 86 7.2 78.8 64|HT R4 57 56 113 325 80.5
65|hIR EHKF 50 53 103 24 19| E 65|HEP FE 53/ 51 104 225 815|RE
66|53 ES 60| 55 115 36 79 66| 5R = 46] 53 99 17.1 81.9

67 KR EafR 43 41 84 48 79.2 67[ LI F&A 56/ 60 116 33.2 82.8|BBE
685 F— 45| 44 89 9.6 79.4 68|ILT {B1E 76| 71 147 50 97|BME
69|5% TXF 45 44 89 9.6 79.4

10|52 FliE 48] 46 94 144 79.6|RE

71|dbRE EsE 53] 53 106 26.4]  79.6

20UK BEF 48[ 51 99 19.2 79.8

BEE —% 45( 50 95 14.4 80.6

14| BEXF 48] 47 95 144  80.6

75| A BN 47| 46 93 12 81| E




76| K% IF= 47| 51 98 16.8 81.2
T1NAR & 47| 51 98 16.8] 81.2
18|BR IEE 49 54 103 21.6 81.4
9|EE FRH 47| 44 91 96/ 814
80|E # 48] 43 91 9.6 81.4|R/RE
81|BAt fEE 49 47 96 14.4 81.6
82i=LL 5% 51 45 96 14.4 81.6

83| BN I 57 56 113 31.2 81.8
AEEES 51] 50 101 192 818

85| A #£EE 46] 48 94 12 82|RE
86| KA EHE 47] 47 94 12 82

87/ iy H1E 46| 48 94 12 82

88|F Il Et 55| 51 106 24 82
89|FAK 1T:& 48] 49 97 144] 826
0|58 5 47| 55 102 19.2 828|mE
o1 |HFT EBS 56| 56 112 288 832
92|F%H =R 52| 46 98 144  83.6

93| KR X5 46 45 91 7.2 83.8
94|07 B4 57 56 113 28.8 84.2
95|HN #HE 55| 54 109 24 85|mE
96| E LI BEF 47| 58 105 19.2] 858
97|BHE BE 51 50 101 144]  86.6
98|IRA R{E 51 56 107 19.2] 878

99| K¥| {#HxE 62| 60 122 31.2 90.8

100{ i @B F 56] 60 116 24 92| R E
101{IUTF 184 76 71 147 456 101.4|BBE
102[/hHH &% 73] 78 151 432] 107.8|BME




